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[image: ]For paper reduced to A5, distance is 30mm. 
So: 30 000/42000 = 0.714 (answer is 0.7)
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A (1 mark)
2) Medulla obl

longata (1 mark). Controls breathing and

heart rate (1 mark).

b) i)

Y (1 mark)

Structure Y is the cerebellum.
ii) The somatic nervous system because this is the

iii)

iv

part of the nervous system that is responsible for
conscious activities (T mark).

In a reflex action the pathway of communication

goes through the spinal cord/unconscious parts of the
brain so doesn't involve the cerebellum (T mark).
Acetylcholine is released at neuromuscular junctions
and binds to nicotinic cholinergic receptors on the
motor end plate/postsynaptic membrane (1 mark),
which triggers depolarisation in the muscle cell

(1 mark).”If nicotinic cholinergic receptors are being
blocked by trihexyphenidyl, less depolarisation of the
muscle cells will occur and the muscle won't be able
to contract (T mark).
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a) A— H-zone (1 mark), B— |-band (1 mark),
C— A-band (1 mark)
b) Adthe H-zone and B/the I-band will appear longer
(1 mark) and C/the A-band will stay the same length
(1 mark).
© i) Myosin filaments have globular heads that are hinged
(1 mark). Each myosin head has a binding site for
actin (1 mark) and a binding site for ATP (1 mark).
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i) 3 answer explains fully how energy released from
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enables U 0
;\J:,s K uired for the breaking of the acin-myosin

2 foss bricge: "
o awer has a clear and logical stucture.

The information given is relevant and detailed.
amarks

3t answer explains briefly how energy released
from ATP enables the movement of the myosin
flament and is required for the breaking of the
actin-myosin cross bridge.

The answer has some structure. Most of the
information given is relevant and there is some detail
involved.

1-2 marks:

The answer includes a basic explanation as to either
how energy released from ATP enables the movement
of the myosin filament or how it is required for the
breaking of the actin-myosin cross bridge.

The answer has no clear structure. The information
given is basic and lacking in detail. It may not all be
relevant.

0 marks:

No relevant information is given.
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Here are some points your answer may include:

The myosin head binds to the actin filament and
forms an actin-myosin cross bridge. Energy released
from ATP moves the myosin head to the side, which
pulls the actin filament along in a rowing action/
power stroke. ATP also provides the energy to break
the actin-myosin cross bridge so the myosin head
detaches from the actin filament after its moved. The
myosin head then returns to it's starting position and
reattaches to a different binding site further along the
actin filament. As the cycle is repeated, the myosin
head pulls the actin filament along, causing the

muscle to contract. e
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;mﬂ is made by phosphorylating ADP (1 mark) wit
a Phosphate group taken from creatine phosphate
(1 mark).
Remember ‘the ATP-creatine phosphate (CP) system is used
during short bursts of vigorous exercise.
ii) ATP s generated very quickly (T mark). / No oxygen
is needed / the process is anaerobic (1 mark). / The
process is alagtic / no Ilacl‘ate is formed (7 mark).
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/\ny.(hree from: eg. a skeletal muscle fibre/muscle fibre
in the biceps is multinucleate whereas an involuntary
muscle fibre/muscle fibre in a blood vessel is uninucleate
(1 mark). / A skeletal muscle fibre/muscle fibre in the
biceps is much longer than an involuntary muscle fibre/
muscle fibre in a blood vessel (1 mark). / A skeletal
muscle fibre/muscle fibre in the biceps has a long,
straight shape whereas an involuntary muscle fibre/
muscle fibre in a blood vessel is spindle-shaped with
pointed ends (1 mark). / A skeletal muscle fibre/muscle
fibre in the biceps has cross-striations visible under a
microscope whereas involuntary muscle/muscle in a
blood vessel doesn't (1 mark). (Maximum of 3 marks
available.)

Alviays read exam questions carefully — this one asks for
three structural differences, so you won't get marks for
CoMparing the functions.

e




